


TEHI (7 EASHOE)

J

el 2 712 ZLA O[5} 221
S0!, AL HH 71 S =

e =

H4ESS & HCHAICH
o 25.7a=

T4 | ICHHI 15HH

AtdhHil S
% I IO ISHH + &0l

=54 TIUMSMIE (1090H)
Z|CH 20% 2HO ITHiK

ARt B CHEOLE
SOIXI2! 2 (20 - 30%)




Te0H A4z 71 T O 212
E5], A0 HH 71 CHEE =54

e e K = LUN » =42 ?pg?é
0] HE A CHE 2HTH (104 - 1897M4) =i



(S7RI=[Epres )

A HET 23010
or3gxgl 2 Xe2| CHEHHE B 1Al

N2=32 01X S 2=}t Ml 2352
SEEAZ =X
(°F 4023 ZICH 150U~ ) (2f 1269+, 207H)

S BHIAZIRE27HAl/
Al k= V) g

g L RRRRRERA

ERARARRARERR RN R

RRRRARRERARELS
AR R R AR R R R R R

el L

,ﬁ
ARARRRRRRRRER 1 %
FFEYE
bHRRaREERERRY
LR LR R AR
44181 | /)
ARERRTRRRRA AR RS

deado AT
Aks

r
=
B
*I
.
=
"y
| 9
.

HERRRANARY
LRERELAE LY
1

)
ALLLLLLLILLL



2= 8 A0etE
500K oA &
(X128 100 - 1509H)

aaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaa

MEA|Z 22101 TR
AHIESTEEAF(129~212) &

Ae30I S 220l 7jelH
(120~26)

SRS RI2F A
aRiki7oRrory | FRASE TS RS
x | S .
27| NS (3652, 2/2,900%4%) ;.i




HO1E R 7|7t
DAL EWE Ui 2o-12)

KTX-SRT S8 ci0 2! i
bt aisiate 24A121 |2 THE ) 3
3PS B3 MHIA 9K

2 U2 7RI M= ChS
HICHHZIZ Vs

OH= ohi4>

TS HENHS =5

SO SHE 2 A DAMIE 3o -y
R R @Y ° =
[HI:I _IJIIE*T-':E I—I'-"l"n' = +. S

M= 2 X312 2lot1.2~229) 2 SHH-AE 6HRE AMAXHoH S
ZIOICHX IS 2 RI27 12 Et50 2 M= 2| B2 A 2=t



Q 22 OIAI=E AR

>

I3 Ched USS X NFEE B2

ciiliotilecd Wil B
=
=

-
[=]
HIH=(z= 22 mam =, ZLI0IAI0p AE S0 ZMAE S
o T
SHIZHI0| 0|SA| 20% 22! (2#) O =511 SisHA}

B ‘:"‘E"Eﬂmﬂlm. =i o]l ﬂ a E%E!.EE- : I'-la jl‘:![}ﬁ A—'

ds UE=0| 2t MIgBAL S MS



